

1. 방정식 $2x^4 - x^3 - 6x^2 - x + 2 = 0$ 을 풀면?

- ① $x = -1$ (중근), $-\frac{1}{2}$, 2
- ② $x = -1$ (중근), $\frac{1}{2}$, 1
- ③ $x = -1$ (중근), $\frac{1}{2}$, 2
- ④ $x = -1, \frac{1}{2}, 2$ (중근)
- ⑤ $x = -1, \frac{1}{2}$ (중근), 2

해설

$f(x) = 2x^4 - x^3 - 6x^2 - x + 2$ 라 하면 $f(-1) = 0$, $f(2) = 0$ 이므로 $(x+1)(x-2)$ 를 인수로 갖는다.

-1		2	-1	-6	-1	2	
			-2	3	3	-2	
		2	-3	-3	2		0
2			4	2	-2		
		2	1	-1			0

조립제법에 의하면 주어진 방정식은
 $(x+1)(x-2)(2x^2+x-1) = 0$
 $(x+1)^2(x-2)(2x-1) = 0$
 $\therefore x = -1, \frac{1}{2}, 2$

